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QUESTION 1

A service needs to accept frames that have the following: an outer VLAN tag of 200 with an inner VLAN tag of 33; and
frames that have an outer VLAN tag of 250 with an inner VLAN tag of 33. What SAP(s) need to be configured?

A. 1/1/1:200.*

B. 1/1/1:*.33

C. 1/1/1:**

D. This requires two SAPs: 1/1/1:200.33 and 1/1/1:250.33

Correct Answer: D

QUESTION 2

Which of the following about VPRN route targets is FALSE?

A. A route target is used to distinguish to which VRF table a prefix belongs.
B. A route target appended to an IPv4 prefix produces a VPN-IPv4 prefix.
C. Multiple route targets can be part of a single MP-BGP update.

D. Route targets must be configured for VPRNSs.

Correct Answer: B

QUESTION 3

Which of the following about the VPN-IPv4 address family is FALSE?

A. VPN-IPv4 allows multiple customers to have overlapping IP addresses.

B. CE routers use VPN-IPv4 prefixes to differentiate between services.

C. PE routers are responsible for creating VPN-IPv4 prefixes.

D. A VPN-IPv4 prefix is composed of a route distinguisher (RD) and an IPv4 address.

Correct Answer: B

QUESTION 4

Click the exhibit.
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Analyzer

An operator at PE1 wants to analyze the traffic between CE1 and PE1 on SAP 1/1/3. On a Nokia 7750 SR, which of the

following is NOT required as part of the configuration?

A. A mirror source with a defined source type.

B. A mirror source defined with an SDP destination.

C. A mirror destination with a SAP defined.

D. A mirror destination and a mirror source with the same service ID.

Correct Answer: B

QUESTION 5

SAPs in an E-pipe service can only be configured on Ethernet ports
A. TRUE

B. FALSE

Correct Answer: B
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